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Lord Kelvein (1824-1907) 
 
“only two dark clouds on 
  The Newtonian horizon” 
     --- Relativity 
     --- Quantum Mechanics�

He is really very  
very sharp!!!�
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Stefan-Boltzmann’s law 
 
Wein’s displacement law �
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∴ wh min =ν

k minE h w h( )= ν − = ν − ν
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 λs − λ i = A(1− cosθ)
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m c
λ − λ = − θ
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λ
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(n,m)
2 2
1 1h 13.6eV( )
n m

ν = − mn < �
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λ =
h
P  P = !k  

k = 2π
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=
P
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 E = hν = !ω
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PP

Aei(k⋅r−ωt )  Aei(P⋅r−Et) !⇒

 !k⇒ P  !ω⇒ E



 

�������ț~bňʁɭ­®Ŭ£˂ɿŧˁȊũ�
���ɀ£Ʀƈq�ȫ¡tŻɴqUȺʱqVJ         

����������ȺʱȨŧ£q�����������F�
����������Ȩîŧˁ£q��������F�
����������ɸ�Wț~ȺʱȨŧsɃǥ�q®���
���ɗW«ˁɪĹʑʊˁ�±ɁxɃǥJ�
���������q�Ğȅ�

1010−<

1≈

2
0k cmEE +=



�������
� 22

0k
42

0
22 )cmE(cmcP +=+

   
[ ] 21202( cmEE

hc
P
h

kk +
==λ

1 22
k k 0

2 197.3MeV fm

E (E 2m c )

π ⋅ ⋅
=
# $+% &



 

       ������������������Wʔ�
�
 

����
      ´«ˁ 
 
                                            Å 
 
     

2 1 2
0 k

2 197.3MeV fm
(2m c E )
π ⋅ ⋅

λ =

2
0 km c E>>

k

12.26
E (eV)

λ ≈��



 

        �	�Ⱥʱŧˁq®ɗ£ǠɥʥŇ�
          1.  �ȬȈ-ÝƎǠɥ�Davisson and  
    Germer,   P.R. 30(1927) 707� 
            �œj«ˁǸU�������������VʝǓ�Ơ�
��ñ£ƙ�ĽǒW¾ɄʑƏį±U���đ��
���VÃɊʁƱ£ÁǓUĚʁı·«ˁfĲ�
��ǮVW»ž˄�
             
 

   

φ

eV60030−
φ−π

asin nh Pφ =



          �

������������ǋ������������WʔǒǤʄ�=-33ñʖɣ�
���ǓåǤɇȜU��������������������VJȍʥƋ�
���ŭWňʁ®Ŭ����£«ˁǉǓ�ĽȗlƈW�
���¾ǙǎǓWňʁq®ɗ»ɇɺq�ȫ�
�
�
�
�

����������ʟɄɋȹ¿ɽŧˁ£ȠɋřĵǪJ�

 
                   

 

 

 

P
h

=λ

asin nφ= λ

P
h

=λ

P





�����



        
	�ȒƐȈ£«ˁɣǓǠɥU��
�ƗV���
�������U 	 	(4:8>:9�����Ɨ{­�����V�
�����«ˁțö�ĽÉƎW�ɄɣǓȠɋWʟ�
��ɭɣǓȠɋÁɼŭ«ˁ£q®ɗU����������
��WȊɳq�������������FWœ�ȞĆ±ȫ������
��F£rVJʣɋ�����ǓɆʝ��ĽÉƎɟ��
��£ĸrǒWž˄����������������ɭɧW«ˁǉ�
��Ǔž˄�
������ 

  

em
e

  keV4010−
06.04.0~ − 1000

x
λθ nsind2 =

Phnsind2 =θ









�����ǃʲˁǭɥɪɃǥ�ǃʲˁňʁq®ɗJ�

ʲˁʑ Na �Ľȗǒ£ɣǓ 



������������������������������«ˁ£ǻÌÛǔ�



�«ˁǻÌÛǔ 

�	�����	�����	��


